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1 71 WE B N R 3 33.62 33.21 1:06.83 0.00
2 72 Vi/ﬂk 142k R Bl 2 33.78 33.11 1:06.89 0.91
3 73 W = [iZE)9 2 34.58 33.53 1:08.11 19.34
4 76 Frfi Bk = =] 3 34.81 34.72 1:09.53 40.81
5 78 AR K =i B 2 35.56 3454 1:10.10 49.42
6 74 VNI = 7K H 3 35.14 35.81 1:10.95 62.27
777 HE B [ (L1 i 2 36.37 34.84 1:11.21 66.19
8 75 TrE Sk AR e 1 36.67 35.04 1:11.71 73.75
9 82 TR BEAE I (L1 hige 3 2 37.68 36.80 1:1457 116.97
10 85 EH O F F5HL A 1 38.85 37.40 1:16.25 142.36
11 84 FRaE b R e 3 38.82 3750 1:16.32  143.42
12 88 o 1 = fif] 1L s 1 39.37 37.40 1:16.77  150.22
12 81 IR E F5HL Kb 1 39.05 37.72 1:16.77 150.22
14 80 mE P fif] | L1 s 1 40.35 3749 1:17.84 166.39
15 86 BT EDL J5HR Kl 2 39.66 38.21 1:17.87 166.85
16 79 b S - Y E /N = KEA 2 39.38 39.05 1:1843 175.31
17 83 m 5 [id] 111 i 2 43.80 43.07 1:26.87 302.86
18 87 O EK J5 R B 1 47.41 45.04 1:32.45 387.19
19 89 HE A J5H B 2 47.25 4745 1:34.70 421.20
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START [2nd RUN] 0
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